
     

221/3/1 1 P.T.O. 

Candidates must write the Code on the 

title page of the answer-book. 

 

 Series BVM/3  H}T ²¥¾.     221/3/1 
 
c}d ²¥¾^c  

   

 

cpO²¾rWr qeqJAp²¾ 
(\¥Op^r EdXp) 

POLITICAL SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 11 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

t̀§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 27 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q ¥̀R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g ỳ qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 11 printed pages. 
  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
  Please check that this question paper contains 27 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 

SET-1 
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qeAp\H q²¾cYyf : 
(i) gpcy \of²¾ kcvcr h²¾ & qBg \of²¾ \§Wc qeM Htd 27 \of²¾ h²¾ & \of²¾ 

\Wo \¥O I¥Tp£ qeM e¥qTAp qJAp h± & 
(ii) I¥T A Yy \of²¾ g¥qIAp 1 – 5 WH hc qBH \of²¾ qBH A¥H Yp h± & hc 

qBH \of²¾ Yp E¨Wc 20 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp &  
(iii) I¥T ^ Yy \of²¾ g¥qIAp 6 – 10 WH hc qBH \of²¾ Y} A¥H Yp h± & hc 

qBH \of²¾ Yp E¨Wc 40 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 
(iv) I¥T g Yy \of²¾ g¥qIAp 11 – 16 WH hc qBH \of²¾ Mpc A¥H Yp h± & 

hc qBH \of²¾ Yp E¨Wc 100 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 
(v) I¥T Y Yy \of²¾ g¥qIAp 17 – 21 WH hc qBH \of²¾ \¥O A¥H Yp h± & 

hc qBH \of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 
(vi) I¥T Y Yy \of²¾ g¥qIAp 21 `p²¾qM§Wc ApZpqcW \of²¾ h± & E¨Wc 

Ap\Vr E¨Wc \tgqWHp qeM qd§I} & 
(vii) I¥T B Yy \of²¾ g¥qIAp 22 – 27 WH hc qBH \of²¾ Ny A¥H Yp h± & hc 

qBH \of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 
I¥T A 

1. \§N`r J§S¾O}m AWy \vc^r J§S¾O}m, Hc`epc qHhmr qHhmr qeMpcZpcp Yr 
\oqWq²¾ZWp HcYy g²¾ ? 

2

1
+

2

1
=1 

           Op£ 
Ytqe ZcteWp Yy A¥W W~ Hr _pe h± ? 1 

2. ‘M¡Zc’ Yy ^pcy hyS¾ qdqIAp£ qeM~ qHhmp HX²¾ ghr h± ?  1 

(a) M¡Zc Yp AcX h±, HtP Yyfp£ Yp Ap\gr q`decWV AWy J§S¾O}m & 

(b) M¡Zc Yp AcX h±, g±q²¾H, ApcqXH AWy cpO²¾rqWH fHWr Yy Hpc²¾ 
qHgy Yyf Yr \o_tWp & 

(c) M¡Zc qeHqgW Yyfp£ Yr qBH gXpBr qefyfWp h± & 

(d) M¡Zc A¥WccpfRcr J§S¾O}mp£, qOez qH g¥atHW cpfRc Yr h ỳfp 
AVJ±hdr HcYr h± & 

3. g}qeaW g¥K Yy Rt§RV W~ q\N~, qHg Yyf ²¥¾v qBgYy Xp£ g¥atHW cpfRc gtcqIAp 
\qcfY qeM gXpBr |̀^cqf\ q`d JBr ? 1 

Op£ 
\c¥\cpJW gtcqIAp Yy qHgy Y} W§Wp£ Yp ec²¾²¾ Hc} & 

2

1
2=1 
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4. ‘qBH Yyf, qBH gq_ApMpc AWy qBH H¡` (cpfRc)’ Yy qeMpc ’Wy k}c YyV 
epdr cpO²¾rqWH \pcRr ²¥¾v \NpV} AWy EgYp ²¾p` qd§I} & 1 

5. ‘qeAHWrJW gtW¥WcWp’ (Ap§R}²}¾`r) Yp AcX g\fR Hc} & 1 

I¥T ^ 

6. Y}hp£ `hp£fHWrAp Yy cphs qBH h}c g¥gpc O¥J Yy IWcy ²¥¾v RpdV Yy dBr Y}hp£ 
`hp£ fHWrAp£ ²¥¾v `O v̂c Hc²¾ epdy qBH \ò tI Hpc²¾ E\c c}f²¾r \pG & 2 

Op£ 
fpH X±c±\r Yy Hpc²¾ dmrepc ²¾fR h}V epdr g`pO HqdApV qeegXp Yr 
\tcpW²¾ qeegXp YrAp£ qHgy Y} qefyfWpep£ ²¥¾v EOpJc Hc} &  12=2 

7. cpO Yy `pcJ-YcfH qgZp£Wp£ qeM~ AOyhy Y} qgZp£Wp£ Yp q^Gcp qYG qO²¾ªp£ Yp 
RrMp A¥WccpfRcr fp£Wr AWy gtcqIAp ²¥¾v EqMApEVp h± & 12=2 

Op£ 
\oZp²¾ ¥̀Wcr Oephcdpd ²y¾hcv cphs ²¾ez AkpY h}By Yyfp£ Yy ²¾pd Ap\gr g¥ ¥̂Z 
^²¾pV Yy dBr, Mt§Hy JBy qHgy Y} HY`p£ Yp q^Gcp qYG & 12=2 

8. OyHc Wthp²¥¾v Ap\Vy IyWc Yy ApcqXH cv\ qeM q\Nmy d}Hp£ Yr q^hWcr Yy dBr 
H}Br Y} `hWe\vc²¾ ¥̀Jp£ gph`Vy qdApEV dBr qHhp OpBy Wp£ Wtgr qHhmrAp£ 
Y} ¥̀Jp£ ²¥¾v EqMApEVp Mph}Jy ? Ap\VrAp£ ¥̀Jp£ ²¥¾v Ydrdp£ Yy Hy E¨MW 
S¾qhcpG & 12=2 

9. Hpd` ‘A’ AWy Hpd` ‘B’ qeM qY§Wy JBy WXp£ Yp AcX\vc²¾ ỳd Hc} : 
2

1
4=2 

 Hpd` ‘A’  Hpd` ‘B’       

(a) g¥\vc²¾ Hcp£Wr (i) M¡. McV qg¥K 

(b) _pcW Yp E\ \oZp²¾ ¥̀Wcr (ii) OpcO ³c²¾p£qTk 

(c) 1974 Yr cydey hmWpd (iii) OJOre²¾ cp` 

(d) d}H Yd Yy g¥gXp\H (iv) O± \oHpf ²¾cpqBV 

10. 1990 qeM ¥̀Td H`rf²¾ YrAp£ qg³pcfp ²¥¾v dpJv Hc²¾ Yy qHgy Y} \o_pep£ Yr 
\mM}d Hc} & 12=2 

Op£ 
cpOre Jp£Zr – d~J}epd g`P¡Wp Ap\Vy Mphy EYyf qeM qHXy WH g³d  
h}qBAp ? 2 
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I¥T g 

11. Up£MpJW fHWr Yy AcX qeM A`crHr M¡Zc ²¥¾v Mpc EYphcVp£ Yr ghpqBWp 
²¾pd g\fR Hc} & 14=4 

          Op £ 

ApqgAp²¾ YrAp£ H}Br Mpc qefyfWpep£ g\fR Hc} & 14=4 

12. g¥atHW cpfRc gtcqIAp \qcfY Yr gXpBr gYgWp Yy dBr _pcW Yr 

E`rYepc h}V Yr gqXWr ²¥¾v Mpc AZpcp£ Wy E¨MW S¾qhcpG & 14=4 

13. qeferHc²¾ Yy qHgy Mpc ApcqXH \o_pep£ Wy c}f²¾r \pG & 14=4 

14. \±hdr \¥Oecfr a}O²¾p AWy Yvgcr \¥Oecfr a}O²¾p qeM H}Br Y} \o t̀I A¥Wc 
g\fR Hc} & 2+2=4 

Op£ 

1948 qeM h±Ycp^pY Yy _pcW qeM q`dV Yy dBr Ot¥̀ yepc hpdpWp£ Yr 
qeApqIAp Hc} & 4 

15. _pcW AWy Mr²¾ Yy Ycq`Ap²¾ WVp \vc²¾ g¥̂ ¥Zp£ Yy dBr Ot¥ ỳepc qHgy Mpc 
KR²¾pep£ Yp q^Gcp qYG & 14=4 

16. 1975 qeM dpJv HrWy JBy A\pWHpd Yy Y¡cp²¾ HrWrAp£ JBrAp£ qHgy Mpc 

\oHpc YrAp£ qkApYWrAp£ Yp q^Gcp qYG & 14=4 

Op£ 

1967 qeM _pcW qeM h}BrAp M¡Xy Ap` M}Vp£ Yy qHgy Mpc ²¾WrqOAp£ Yp 
q^Gcp qYG & 14=4 

I¥T Y 

17. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 
qd§I} :   

 qBgYp qBH ²¾WrOp S¥¾Ur O¥J Yr g`p\Wr Yy cv\ qeM h}qBAp & 

g`pOepYr \§ZWr \v¥OrepYr \§ZWr Wy hper h} gHyJr Op£ ²¾hs — qBh 
qeMpcZpcpW`H qeepY htV H}Br t̀§Yp ²¾hs qchp & S¥¾Ur O¥J Yr qBg ±̂hg ²y¾ 
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Y}hp£ Jt§Rp£ ²¥¾v EdPpqBAp h}qBAp gr, hqXApcp£ Yr Wyk h}m ftcv HrWr gr, 
\c`pVv hqXApcp£ Yy _¥Tpc Hc²¾ ²¥¾v WcOrh qYWr Op chr gr......., & S¥¾Ur O¥J 
Yr g`p\Wr h}V ²¾pd hqXApcp£ Yr h}m er IW` h} JBr AWy qBH ²¾es fp£Wr 

Yr E`rY Yp O²¾` h}qBAp &  

(i) S¥¾Ur O¥J Yy Y¡cp²¾ qBH Yvgcy ²¾pd EdPy Y} g±²¾H J§S¾O}mp£ Yy ²¾p`  

qd§I} & 

(ii) hqXApcp£ Yr h}m qHez fp£Wr Yr ¥̀J \±Yp HcYr h± ? g\fR Hc} &  

(iii) \c`pVv hqXApcp£ Yy _¥Tpcp£ ²¥¾v g¥gpc Yr fp£Wr Yy dBr qBH e§Tp IWcp 

qHE¤ g`qPAp Op£Yp h± ? 1+2+2=5 

Op£ 

hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 

 JtRq²¾c\yIWp Yp AcX EYpgr²¾Wp Yp Zc` q²¾^pEVp er ²¾hs h± & 

EYpgr²¾Wp Yp AcX ht¥Yp h± t̀§I W}c Wy Ot§Z qeM fpq`d ²¾p h}V Yr ²¾rWr ²¥¾v 

A\²¾pEVp & EYpgr²¾Wp Yr ²¾rWr A²¾®gpc MdV epdy Yyf Yy dBr qBh kcvcr 

²¾hs qH Eh Ot§Z ²¥¾v IW` Hc²¾ Yy dBr `YY Hcy & AOyhy Yyf Ot§Z Yy ²¾pd 

Otmy ²¾hs ht¥Yy AWy ²¾p hr Ot§Z Yy ghr-JdW h}V Yy ^pcy E²¾ªp£ Yp H}Br \§I 

ht¥Yp h± & YcAgd HBr Hpc²¾p£ HcHy JtRq²¾c\yI Yyf, qO²¾ªp£ qeM _pcW er 

fpq`d h±, Ot§Z qeM fpq`d h}By h²¾ & 

(i) JtRq²¾c\yIWp Yr \qc_pfp Hc} & 

(ii) JtRq²¾c\yIWp AWy EYpgr²¾Wp qeM A¥Wc g\fR Hc} & 

(iii) JtRq²¾c\yI Yyf h}V Yy ^peOvY, HtP Yyf Ot§Z qeM fpq`d qHE¤ h}By ? 

H}Br qBH Hpc²¾ Yg} & 1+2+2=5  



     

221/3/1 6 

18. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 
qd§I} :  

 _pcW Yr gtcqIAp cV²¾rWr Yyf YrAp£ A¥Ycv²¾r gtcqIAp g`qgApep£ 

²¾pd OvPV Yr qWApcr qeM OtRr h}Br gr & A²y¾Hp£ e§IepYr Jct\p£ ²y¾ g z̀-g z̀ 

Wy _pcW ²¾pd~ A§T h}V Yr H}qff HrWr & _pcW ²y¾ cpfRcr ByHWp ²¥¾v ^VpBr 

cIV Yy dBr d}HW¥Wcr cpO²¾rWH qeegXp ²¥¾v A\VpqBAp AWy q²¾^pqhAp & 

(i) qHhmy Y} IyWcp£ qeM e§IepYrAp£ ²y¾ _pcW W~ A§T h}V Yr H}qff HrWr ? 

(ii) WthpTy qeMpc A²¾®gpc e§IepYr Jct§\p£ Yr _pcW W~ A§T h}V Yr ¥̀J 
qHg hY WH EqMW h± ? g\fR Hc} & 

(iii)  d}HW¥Wcr cpO²¾rWH qeegXp qHhmy Y} WcrqHAp£ ²¾pd _pcW Yr A²y¾HWp 
qeM ByHWp ²¥¾v ^VpBr cIV Yr ghpqBWp HcYr h± ? 1+2+2=5 

19. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} :   

 AkpYr AWy e¥T W~ q\§N~ hpdpW ^Yd JBy & gpTy ²y¾Wpep£ ²¥¾v q³Hc 

h}qBAp qH OyHc }̂dr (_pfp) Yy AZpc Wy gv̂ y ^VpBy JBy Wp£ AcpOHWp ³±d 

gHYr h± AWy Yyf Yy Rt§RV Yp IWcp \±Yp h} gHYp h± & qBh er d§Jp qH qBg 

Yyf Yy gp ª̀Vy ApV epdr h}c g`pqOH ApcqXH MtV}WrAp£ W~ qZAp²¾ hR gHYp 

h± & qBg dBr HzYcr AJep²¾r (drTcqf\) ²y¾ qBg `gdy ²¥¾v AJy \pV Yp 

³±gdp HrWp & .......  

(i) AkpYr AWy e¥T Yy Hpc²¾ _pcW qeM h}By qHgy qBH `tI ^Ydpe Wy 
Mp²¾V \pG & 

(ii) \±cy qeM qdIy Hpc²¾p£ W~ qBdpep _pfp Yy AZpc Wy gv̂ y ^²¾pEV Yy ³±gdy 
²¥¾v A§Jy \pEV dBr Ot z̀epc qHgy h}c Y} Hpc²¾p£ Yp q^Gcp qd§I} & 

(iii) qBg t̀§Yy ²¥¾v AJy \pEV ²¥¾v qHXy WH gXp²¾r d}Hp£ ²y¾ MtV¡Wr qYWr AWy 
qHE¤ ? H}Br qBH EYphcV qYG & 2+2+1=5 

Op£ 
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hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 
qd§I} : 

 Yyf Yy eZycy _pJp£ qeM e}Rp£ O²¾ecr 1952 qeM hr \BrAp£ & Mt²¾pe 
dBr OY}OqhY, e}Rp£ AWy e}Rp£ Yr qJVWr Yy gpcy H¥` qeM Htd Ny `hr²y¾ dJ 
JBy & M}Vp£ g`y E`rYepcp£ qeM RpHcp er h}qBAp — A¡gW²¾ hc grR dBr 
Mpc E`rYepc ±̀Yp²¾ qeM g²¾ & d}Hp£ ²y¾ qBg Mt²¾pe qeM e§Z Mmª Hy qhgp  
qdAp — Htd `WYpWpep£ qeM~ AqZAp£ W~ eZycy d}Hp£ ²y¾ Ap\Vp e}R \pqBAp & 
Mt²¾pep£ Yy ²¾WrqOAp£ Yp A±dp²¾ h}V Wy hpc²¾ epdy E`rYepcp£ ²y¾ er ²¾WrqOAp£ 
²¥¾v q²¾c\§I YqgAp & Htd ^pdJ d}Hp£ Yy e}R Yy AqZHpc Yy qBg \oa}J ²y¾ 
Apd}MHp£ Yp v̀¥h ¥̂Y Hc qY§Wp & 

(i) Htd ^pdJ d}Hp£ dBr e}R \pEV Yp AqZHpc W~ Hr _pe h± ? 

(ii) 1952 Yy Mt²¾pep£ qeM dJ_J Ny `hr²y¾ dJV Yy H}Br Y} Hpc²¾ qd§I} & 
(iii) _pcW qeM 1952 qeM h}BrAp£ M}Vp£ W~ qBh qHez qgZ h} Op£Yp h± qH 

Yt²¾rAp£ qeM qHZcy er d}HW¥Wc E\c A`d HrWp Op gHYp h± ? 1+2+2=5  

20. hyS¾ qY§Wy h}By HpcRv²¾ ²¥¾v qZAp²¾ ²¾pd AqZA±²¾ Hc} AWy EgYy hyS¾ qY§Wy JBy 
\of²¾p£ Yy E¨Wc qd§I} : 

 
(i) ‘gpcH’ (SAARC) Yp qegWpc cv\ qd§I} & 
(ii) HpcRv²¾ qeM HtcgrAp£ Yr gqXWr W~, _pcW AWy \pqHgWp²¾ Yy g¥ ¥̂Z 

qeM Hr g¥Yyf q`dYp h± ?  

(iii) gY§g Yyfp Yy Ycq`Ap²¾ g¥̂ ¥Zp£ ²¥¾v gtZpc²¾ Yy dBr gpcH Yr g³dWp 
Yp t̀d¥HV Hc} & 1+2+2=5 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 20 Yy 
gXp²¾ Wy h± : 

(20.1) ‘gpcH’ (SAARC) Yp \vcp ²¾p` qd§I} & 

(20.2) 1991 W~ _pcW AWy Mr²¾ Yy Ycq`Ap²¾ g¥̂ ¥Zp£ Yp `td¥HV Hc} & 

(20.3) ‘‘_pcW Yy e§Ty ApHpc AWy WpHW Yy Hpc²¾ qBgYy Jep£Ur Yyfp£ ²¥¾v 
qBgYr ²¾raW E\c f§H Hc²¾p dpk`r h± &’’ H}Br qBH UtHes Ydrd 
Yy Hy qBg HX²¾ Yr \tfRr Hc} &  1+2+2=5 

21. _pcW Yy qY§Wy JBy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 9 Wy) qeM \¥O cpOp£ 

               AWy    ²¾pd YcgpqBAp qJAp h± & hyS¾ qY§Wr JBr OpVHpcr 
Yy AZpc Wy qB²¾ªp£ cpOp£ Yr \qhMpV Hc} AWy Ap\Vr E¨Wc \tgWH qeM qB²¾ªp£ 
Yy ghr ²¾p`, ecW~ qeM qdAp£Yr JBr OpVHpcr Yr n` g¥qIAp AWy g¥̂ ¥ZW 
A§Ic, hyS¾ qY§Wr gpcVr Yy A²¾®gpc qd§I} :   

ecW~ qeM qdAp£Yr JBr 
OpVHpcr Yr n` g¥qIAp 

g¥̂ ¥ZW A§Ic cpO Yp ²¾p` 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) Eh cpO qO§Xy YqdW \|Xck ²¾p`H g¥JS¾²¾ 1972 qeM ^VpqBAp  
qJAp & 

(ii) Eh cpO qO§Xy gcYpc gc}ec ¥̂²¾ª (T±`) gqXW h± & 

(iii) Eh cpO qO§Xy _pcWr qHgp²¾ atq²¾A²¾ ²y¾ qHgp²¾p£ Yp A¥Y}d²¾ HrWp gr & 

(iv) Eh cpO qOg²¥¾v Zpcp 370 AZr²¾ qefyg YcOp qY§Wp qJAp h± & 

(v) Eh HzYc fpqgW \oYyf qOhmp 1987 qeM qBH cpO ^qVAp gr & 15=5 
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\of²¾ g¥. 21 Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 

Outline Map of India (Political) 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 21 Yy 
gXp²¾ Wy h± : 

(21.1) gcYpc gc}ec ¥̂²¾ª (T±`) qHg cpO qeM gqXW h± ? 

(21.2) Eg cpO Yp ²¾p` qdI} qOg²¥¾v 1961 qeM \tcWJpd Yr AZr²¾Wp W~ 
t̀HW HcpqBAp qJAp gr & 

(21.3) q`k} ²y¾f²¾d ³c¥R Yp g¥gXp\H AWy ²y¾Wp H¡V gr ? 

(21.4) qHg cpO ²¥¾v Zpcp 370 Yy AZr²¾ qefyf YcOp qY§Wp qJAp h± ? 

(21.5) qHhmp cpO Wpmr qec}Zr A¥Y}d²¾ Yy dBr OpqVAp Op£Yp h± ? 15=5  51=5 

I¥T B 

22. `hpfHWrAp£ cphs N}Ry Yyfp£ Yy ²¾pd g¥ ¥̂Z ^VpBr OpV Yy dBr _c`pEV epdy 
qHgy Mpc Hpc²¾p£ Yr g`rqIAp Hc} & 1

2

1
4=6 

Op£ 

g}qeaW g¥K Yy Rt§RV Yy dBr Ot̀ zepc qHgy Mpc Hpc²¾p£ Yr g`rqIAp Hc} & 

 1
2

1
4=6  

23. _pcW AWy ¥̂Jdp Yyf Yy Ycq`Ap²¾ Ap\gr q`decWV AWy Agqh`Wr Yy 
qHgy Y}-Y} IyWop£ Yp q^Gcp qYG & 1

2

1
4=6 

Op£ 

Mr²¾ cphs Ap\Vr AcXqeegXp ²¥¾v E_pc²¾ Yy dBr Mt§Hy JBy qHgy Mpc HY`p£ 

Yp q^Gcp qYG & 1
2

1
4=6 

24. Hmy t̀Hp^dy AWy ^htW g¥Kcfp Yy q\§N~, _pcW Yy AqZHWc cpO²¾rWH Ydp£ Yy 
qeM E_cYr h}Br gqh`Wr Yr qHgy qW¥²¾ J§dp£ Yp ecV²¾ Hc} & 23=6 

Op£ 

_pcW Yr d}HWp£qWoH cpO²¾rWr qeM IyWor ApHp£Hfpep£, g§Wp Yr gpPyYpcr AWy 

IyWor g¥Wtd²¾ Yy `hW§e Yp ecV²¾ Hc} & 32=6  



     

221/3/1 11 P.T.O. 

25. ‘‘_pcW Yy \qhdy qW¥²¾ Ap` Mt²¾pep£ qeM, Hp£Jcyg \pcRr Yr M¡Zc Yp _pcWr 
cpO²¾rWr Yr d}HW¥Wcr \oqHcWr E\c H}Br ²¾HpcpW`H Agc ²¾hs q\Ap &’’ 
qBg HX²¾ Yy \§I qeM H}Br qW¥²¾ Ydrdp£ qYG & 23=6 

Op£ 

‘‘_pcW qeM dpJv HrWr JBr q`fcW AcXqeegXp Yy `pTd Yr Apd}M²¾p I§̂ y 
\§Ir AWy g§Oy \§Ir Y}hp£ Yy cphs Itd Hy HrWr JBr &’’ qBg HX²¾ Yy \§I qeM 
H}Br qW¥²¾ Ydrdp£ qYG & 23=6  

26. cpO²¾rWr qeqJAp²¾ Yy qeqYApcXr Yy cv\ qeM, Wtgs 1975 qeM dJpBy JBy 

A\pWHpd W~ qHhmy qW¥²¾ g^H qgIYy h} ? 23=6 

Op£ 

1969 qeM Hp£Jcyg \pcRr ²¥¾v e¥T W~ ^MpV qeM `YYJpc h} gHV epdy H}Br 
qW¥²¾ E\p gtPpG & 23=6 

27. \vcy g¥gpc qeM qeferHc²¾ Yr Apd}M²¾p Yp Hpc²¾ ^V²¾ epdy qHgy Mpc 
t̀qYAp£ Yr qeApqIAp Hc} & 1

2

1
4=6 

Op£ 

epWpec²¾ g¥̂ ¥Zr qHgy Mpc qM¥Wpep£ Yr qeApqIAp Hc} O} qH AO Yr g¥gpcH 
cpO²¾rWr Yp t̀§Yp ^V MtHrAp£ h²¾ & 1

2

1
4=6 

 


